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b) This paper consists of two sections A and B
c) Answer all the questionsin section A in the spaces provided.
d) Insection B question 6is COMPULSORY & choose either question 7 or 8.
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SECTION A (40 Marks)

<¢) The diagram below represents a nuclectide
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<<0* Name the nucleic acid shown above. (1 mark)

d) Colour blindnessis asex linked trait caused by arecessive gene on the X chromosome. Using the
symbol X to represent the gene for normal colour vision and X" to represent the gene for colour
blindness, work out the phenotype of the children born to a norma man and a carrier woman. (4
marks)
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The experiment below was set up t,g%Qv&eti gate a certain physiological process. The glucose
solution was first boiled then co(;d‘éd. The set was |eft for 24 hours.
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3. To estimate the population in size of crabsin a certain lagoon, traps were laid at random. 400 crabs
were caught, marked and released back into the lagoon. Four days later, traps were laid again and
374 crabs were caught. Out of the 374 crabs, 80 were found to be marked.
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a) Cadculate the population sizzg’b? the crabs in the lagoon. (3 marks)
Q

%
b) %@%two assumptions that were made during the observation. (2 marks)
................. 0 U

d) Below isan example of afood chain.
Napier grass——— » Mouse ————» Snake————» Hawk
Identify the tropic level occupied by
(i) Napier grass (1 mark)

(i)  Hawk (1 mark)

(i)  What isthe name given to the evolution of beaks of birds? (1 mark)

(i)  Nametwo vestigia structures present in man. (1 mark)



c) Bacteriatendto dq@‘f’op resistance to antibiotics after they have been subjected to them for a
long period of tige. Explain. (2 marks)
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d) QEQpIain continental drift as an evidence of evolution. (2 marks)
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@ 5. @ Namethetype of circulatory system found in the members of the classinsecta. (1 mark)
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(i) Lungs to the heart. (1 mark)

b) The diagram below shows gaseous exchange in tissues
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(1) Name the gas that diffuses

l. to the body cells (1 mark)
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SEGFION B (40 Marks)
Ag%er question 6 (Compulsory) and either question 7 or 8 in the spaces provided.
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@Q 6. Thecellsof Tradescantia plant were found to have an average diameter of 2.5QM. The cells were
@* placed in varying concentrations of sugar solution. The diameter of the cellsin each solution was
<<0* determined and results obtained were as shown below.
Percentage of sugar Diameter of cell (MM)
concentration
1 5.0
5 4.0
10 3.0
15 2.0
20 15
25 1.0

a) Draw agraph of diameter of cells against percentage of sugar concentration on the graph
provided. (6 marks)

b) From the graph determine the concentration of the cell sap. (1 mark)

c) Give an explanation for the average diameter of cells placed in 2.5% sugar solution. (4 marks)



d) Describethe differencein appeargﬁz% between cytoplasm before and after cells being placed in
25% sugar solution. (2 marks)?eQ
9

e) Agbount for the appearance of red blood cells when viewed under light microscope
< ter they were placed in 25% sugar solution and left for 10 minutes. (3 marks)
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f) State the importance of the process under investigation to the plants. (4 marks)

7. Describe the process of fertilization in aflowering plant. (20 marks)
8. Describe the structure and functions of the various parts of the human ear. (20 marks)






